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1. A speaks truth 4 out of 5 times. A dice
is tossed. He reports that there is a six.
What is the chance that actually there

was six ?
1y 13 (2) 2/3

(3) 49 @) 59

2. Suppose an unbiased coin is tossed
thrice, then what is E(X) ? If X denotes
number of heads ?

(1) 3 ) 112
(3) 312 (4) None of these
3.  Let the probability density function
kx? ,05x<2
fix) = { 0 , otherwise
The value of k is given by —
1) 118 2) 3/8
(3) 2/5 (4) None of these

4. Assume that X ~ Binomial (n, p) for
some n =2 1 and 0 < p < 1 and
Y ~ Poisson (A) for some A > 0.
Suppose E[X] = E[Y], then

(1) VX)=V(Y)
(2) V(X)<V(Y)
(3) V(X)>V(Y)
(4) Nothing can be said

5.  For Binomial distribution with n = 10
and p = 0.6, E(X?) is

(1) 304 (2) 38
(3) 8 (4) 384
2 00 (Stat., Maths., Agri. etc.)
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(1) );1!1=0(i“) an-ibi E(Xn-i) %
@ 2o (") ar-ibr-i By %
(3) a"E(Xn) +bi%

(4 Zf_alEXi)bi %

TS p o W1 Sl e T TR R —
(1) p? (2) p(1-p)
(3) (1-p)p2 4) p/(1-p)

MR X, ~ B, py) IR X, ~ B(ny, py) @t
Z=X,+ X, H o &

(1) f59eHr 97 3Pk 0, =n,

2) fowdi s st p, =,

3) Wﬁﬁa&‘ﬂm:nz

(4) W s FW p, =p,

A AR X 1 W wnfieda w2
Rt wii¥rpar g7 worg
PX=t)=qp;t=0,1,2,....

iR FE e ar g 0

(1) P(Y=k+t/X >k) =pqt

2) P(Y =k +t/X <k) =pgt

(3) P(Y=k+t/X k)= pgt

4) P(Y=k+tX<k)=pgt

e i % ww amRew w X W
MGF. A Y$R §:
(1+2¢t)?

27
WX IR -
(1) 12
(3) 3

M(t) =

(2) 2
@ 1
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E[(aX + b)"] is equals to
(1) =, (:‘) an—ipi E(Xn-i)

2) }_ji"=0 (:‘) an~i pn-i E(Xn-i
(3) an E(Xn) + bi
@) Zf_, ai E(Xi) bi

The variance of Bernoulli distribution
with parameter p is —

(1) p? (2) p(1-p)
(3) (1-p)2 (4) p/(1-p)

IfX; ~B(n;,p))and X, ~ B(n,, p,) then
Z=X, + X, will follow

(1) Binomial distribution if n, = n,
(2) Binomial distribution if p, = P2
(3) Poisson distribution if n 1=,

(4) Poisson distribution if p; = p,

Suppose X has a geometric distribution
with probability mass function :

PX=t)=qp;t=0,1,2,....
Which of the followings is correct ?
(1) P(Y=k+tX>k)=pqt
(2) P(Y =k +t/X <k)=pqt
(3) P(Y=k+t/X2k)=pgqt
(4) P(Y=k+t/X<k)=pqt

Let a random variable X has the M.G.F.
as:

M@ = -(.I_-'.-_ZC;t_)i
27
The mean of X is
1) 112

3) 3

@) 2
@) 1
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1 xP
B(p.q) (1+x)P*9
p>0, q > 0; 3 T, FeTh A FR 2

-1
T f(x) =

,0<x<oo,

Gy R @ L
p+q L

3) p-l @) pt+l
q q-1
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. -1 -n
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fX~ N(O, 1) then the random variable
Z= % X,2 follows

(1) Chi-square with 1 d.f.

1
(2) Gamma (E}
11
3) 51(5,—2-)
11
4 B, (5,-2"}

For the distribution f(x) = ..
B(p.q)

xp'l
(1+x)P*4
what is the harmonic mean ?
1

,0<x<oo,p>0,q9>0;

{1 —2— 2) —
p+q p
wil] 1

(3) P 4) p+l
q q-1

The characteristic function of the
distribution y(ct, n) —

it -1 a -n
@ [1== o] | -2
o) a—1t
L 1] . n
3) (1-.5] @) [1—5]
it o

Ifb,=4and b,y = % then correlation

co-efficient is
(1 173
3) 1/4

(2) 4/3
4) 2/3

00 (Stat., Maths., Agri. etc.)
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[12 $9 = T B2; 16 379 = w5 yiEe
(1) 0.40

2) 0.30

(3) 0.533

@) & S | Frufi 78 fear o
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A ¢ % IR | Th N JEHRN T
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(2) 3 =1 yE x & wft WA F R
TR |

3) FFaftam T |
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T @1 THHW, Y = mX + c &, gR
¢ Y % S ] Y —

(1) W@ Y-319 & ¥ 3 X-318 =)
HEATR |
2) WA g Aot} |

(3) W Y-2% F . R X-34 w0y
e 2 |

@) T A B T
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Suppose the correlation co-efficient
between height (as measured in feet)
versus weight (as measured in pounds)
is 040. What is the correlation
co-efficient of height measured in
inches versus weight measured in
ounces ? [12 inches = one foot; 16
ounces = one pound]

(1) 0.40

(2) 0.30

(3) 0.533

(4) cannot be determined
information given

from

In least squares regression, which of the

following is not a required assumption

about the error term € ?

(1) The expected value of the error
term is one.

(2) The variance of the error term is
the same for all values of x.

(3) All the values of the error term are
independent.

(4) The error
distributed.

term is normally

In the equation of a straight line,
Y=mX+c,ifcis equal to zero then

(1) The line cuts the X-axis to the right
of the Y-axis.

(2) The line passes through origin.

(3) The line cuts the X-axis to the left
of Y-axis. '

(4) None of these
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21

(3) A= R e o gl sEEEfa R |

4) aF =0 i B P w9 F wEEE
gl

T W RRET, 5 W 3T TS e | 3
st arelt fean sewor fovamo
ST TREITER 3T I 3 SR S M
¥R adawfe e ?

(1) 20360 (2) 303K 50
(3) 20340 (4) 15 3R 65
ffafea ANOVA aiferemt T
muﬁw%mmﬁm%:
e | @EAEwR | Fw
Hra AT
T TITHA 1 122.5
rafire 3 71.5
Fo 4 200.0
T 3R ol =R % o TEEeY 8 -
(1) 0.3875 (2) 0.6125
(3) 0.6225 (4) 0.7826
e Soft & sl s g aE @

THTUT % I T IFTHE THI—T AT Fehdl
27

(1) <k
(3) Wt

(2) IAfa
(4) Ffafa
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If Spearman’s co-efficient of rank
correlation is equal to one, then :

(1) The total variation can be
explained by the regression line.

(2) The ranking of the two variable
partially agree.

(3) The ranking of the two variables
totally different.

(4) The ranking of the two variables
totally agree.

In a two way ANOVA with 6 rows, 5
columns and 3 observations per cell,
what are the degrees of freedom for the
sum of square due to interaction and
error respectively ?

(1) 20and 60
(3) 20 and 40

(2) 30and 50
(4) 15 and 65

The following ANOVA table is
obtained for a two variable linear
regression :

Source of | Degrees of | Sum of

variation freedom squares
Regression 1 122:5
Residual 3 715
Total 4 200.0

The correlation between the dependent
and the independent variable is —

(2) 0.6125
(4) 0.7826

(1) 0.3875
(3) 0.6225

In time-series analysis, which source of
variation can be estimated by the ratio-
to-trend method ?

(1) Cyclical
(3) Seasonal

(2) Trend
(4) Irregular

00 (Stat., Maths., Agri. etc.)
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The Newton backward interpolation
formula is generally used to interpolate
the values

(1) anywhere in the set of table values.
(2) atend of a set of table values.

(3) in the middle of a set of table
values.

(4) None of these

If the arguments in a series are not at
equal interval, the proper formula that
can be used for interpolations is

(1) Bessel’s formula
(2) Lagrange’s formula
(3) Stirling’s formula

(4) Gauss’s formula

Error in Simpson’s three eighth rule is
compared to Simpson’s one

third rule.
(1) Small (2) Negligible
(3) Large (4) Zero

Divided differences method are useful

when

(1) Arguments are equally spaced.

(2) Arguments are unequally spaced.

(3) Arguments advance with unit
intervals.

(4) All of these

In India, the data pertaining to growth
of economy is released by

(1) Reserve Bank of India (RBI)

(2) National Sample Survey
Organisation (NSSO)
(3) Central Statistical Organisation
(CSO)
(4) State Directorate of Economics
and Statistics (SDES)
=]
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T oft |
(1) 1950-51
(3) 1970-71

(2) 1960-61
(4) 1980-81
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(1) T B HEH H |
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@) T ABE T |

T TR SO SR #ht S
(1) =¥

(2) wHE

(3) U=ETY®

(4) T A HE T

371 - R S e ST &
(1) T 3FREa sl

(2) T Gaiteeh gear ghe
(3) T i wliE
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wifF 1 3rfireram T & I8 ST ST 8

(1) S weor
(2) IR T
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27-
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Indian agricultural census was first time
held in

(1) 1950-51
(3) 1970-71

(2) 1960-61
(4) 1980-81

National Sample Surveys Organisation
conducts sample surveys to collect
information about organised sector

(1) Every six months
(2) Annually

(3) Every three months
(4) None of these

Indian Livestock census is conducted
(1) Yearly

(2) Biyearly

(3) Quinquennially

(4) None of these

Neyman - Pearson lemma provides
(1) An unbiased test

(2) A most powerful test

(3) An admissible test

(4) Minimax test

A test which maximises the power of
the test for fixed o is known as

(1) Bayes test
(2) Optimum test
(3) Randomised test

(4) Likelihood ratio test

00 (Stat., Maths., Agri. etc.)
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TEM 527 N(i, 02) % TRo F e
fovamm st % e (1 - o) favem
T H, T {4 R

2
ns

(1) P X12—af25'—2 ngfz}ﬂ—a
g,

[ .2 2
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3) At
@) T wE oft

34. e wRfeafs & qed =am = e

3s.

8
(1) =fFa
(2) Ffe vg srEgEia R |

(3) BLUE
4) AgH

THIE AW F Sfiey & R e wve
o aTel AfS % W9 0% MLE &

f(x[0) = 932 ©-x);0<x<0

1) x 2) 2x
X 1
2 Ay =
3) 5 4 -
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Equality of several normal population
means can be tested by

(1) F-test
(2) Chi-square test
3) t-test

(4) z-transformation

The confidence interval with (1 - o)
confidence co-efficient for the variance
of the normal distribution N(u, ¢2),
when L is known is

i 2
ns
M) P|xf-ap S—5 ngfz}=1—0ﬂ
g

2 2
@ PlE-ge? 2. 1 }:14
Xl-a2

(3) Both of these
(4) None of these

Least square estimators under linear
setup are-

(1) Unbiased

(2) Error terms are uncorrelated
(3) BLUE

(4) All of these

MLE of parameter 6 of a population
having density function

f(x|8) = -6%2— 0-x);0<x<6

for a sample of unit size is |
(1) x (2) 2x
x 1

3) > 4 2%
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FARIER! % T o T & B FHT Sl
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(1) SuEh
(3) U T

2) g A=
(4) sifd=

gk Yl G AR & | 98 YA §
(1) v frm e |

(2) e fFEm |

(3) ad Gehe A & |
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TRt 1 BRI TS 8
(1) mEm

) éw

(3) Tt
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10

36.

37.

38.

39.

GET IT ON
Google Play

If Xy, Xy, ..., X, be a random sample

from N(u, o2), then which of the

following is correct ?

(1) ZX, is a sufficient estimator for
when o2 is known.

(2) X2 is asufficient estimator for 62

when Lt is known.

ZX;2/n is a sufficient estimator for

o2 when W is known.

Both XX; is a sufficient estimator

for i when o2 is known and ZX;?

3
“@

is a sufficient estimator for o2
when L is known.

Rao-Blackwell theorem enables us to
obtained minimum variance unbiased
estimators through

(1) Unbiased estimators
(2) Complete estimators
(3) Sufficient estimators
(4) Efficient estimators

Who is known as the father of genetics ?
(1) Lamarck (2) Hugo de Vries
(3) Gregor Mendel (4) Darwin

“Gametes are never hybrid.” It is a
statement of law of "

(1) Dominance

(2) Segregation

(3) Independent assortment

(4) Unit character

The functional unit of heredity is
(1) Chromosome

(2) Protein

(3) Nucleus

(4) Gene

00 (Stat., Maths., Agri. etc.)
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(2) wafa sig-39gH @M
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Teh 23 Fg3UIEHT FANT H TH GSH o
THT opart T B et Wew W SR 2
?, Taa Gl ) T 2

(1) (1) 2 3
3) @ 4 @
T Auit Fored & e & 9 % wew

ST & g8 81, FEe 8
(1) HYg SRERaAT s

(2) ETUR SRERAT 5§27
(3) weRf SET s
4) FH SIS T

= sREE ¥

X 0-15 | 0-10

TRETET 17 8 3

T THR & -

(1) 99g IHERaT s

(2) HeRR ¥ <EAR THR H

(3) RIS FET FhR I

(4) TE IRERAT §e U T s el
AR THR I
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In k X k Latin square design, the degree .
of freedom (d.f.) of error variance is :

(1) k-1)(k-2) (2) k2-k-2
(3) kk-1)(k-2) (4) k2-2

An experiment having several factors
with equal number of levels is known
as

(1) Complex experiment

(2) Symmetrical factorial experiment
(3) Asymmetrical factorial experiment
(4) None of them

A 23 factorial experiment is
confounded into a block of block sizes
2, the number of independent
confounded interactions are
(D) (1) (2) (3)
(3) 2 4 @

A series showing the sets of all values
in classes with their corresponding
frequencies is known as

(1)
)
3
4)

grouped frequency distribution
simplé frequency distribution
cumulative frequency distribution
none of these

The following frequency distribution :

Classes 0-15|10-10] 0-5

Frequency 17 8 1y

is classified as ;

(1) grouped frequency distribution

(2) cumulative distribution in less than
type

(3) cumulative distribution in more
than type

(4) both grouped frequency
distribution and  cumulative

distribution in less than type
=
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Wmmﬁﬂ@fﬁqﬁﬁﬁ%:
(1) =h

2) T

(3) femmerai

4) aasf

=T TR o din & forg g g

¥ forg g o fore e @

(1) ei-3TaUet hi TR HHT TAT TG
TRERAT

(2) -3aue 61 = Hian qen wgm
FRERAT

(3) =t-raer 1 IR E aun Jgw
it

(4) Ft-a=ae S = i g aga
Gl SREwal

e Yo e 5 fepeft, w1 w30 ferrl. wfa
21 6l e Y 99 HE B aYl 91 BT 15
foprtt, o1 T 45 fdt. sl s A @ w
T T & | a9 Tt < sivEa i ot

(1) 35fdE  (2) 38 ReiER
3) w2 fefEa @) 40 Refrea

U@, 20) # o 1 ftwan @wifaa
ITheAeh I

1) X @ Lx

2 (n)
@) 2Xg @) 2X
I t, 0 %1 T T wfes 8 @

(1) m.le. 9aTH Sfesis 1 we g |
@) t,0 % foawaea amfEd & |
3) t, 0 fore wea waa & |

(4) T A HE L

12
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Non-dimensional diagrams are also
known as :

(1) cubes

(2) spheres

(3) pictograms

(4) all of these

In an ogive for less than type
distribution, the points are plotted for

(M

The upper limits of class intervals
and frequencies

The lower limits of class intervals
and frequencies

(2)

3)

The upper limits of class intervals
and cumulative frequencies

The lower iimits of class intervals
and cumulative frequencies.

A train covered the first 5 km of its
journey at a speed of 30 km/h and next
15 km at a speed of 45 km/h. The
average speed of the train was

(1) 35km/h (2) 38km/h
(3) 42 km/h (4) 40 km/h

The maximum likelihood estimate of ©
in U(0, 20) is

@ Xg)

3) 2Xg

i
(2) 3 X

4) 2'X(n}

If a sufficient statistic t for 8 exists, then

(1) mle will be a function of

sufficient statistic
(2)
(3)
4)

t is always unbiased for .
t is always consistent for 0.
None of these

00 (Stat., Maths., Agri. etc.)
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Ife (T, ) STehereh! 6l TH Aoft 36 THR &
fFE(T,)>0TWV(T) 508 In>w
s T, B

(1) 0% femwma

@ T,—L£-> 0
3) 6% fuEma T, —E— 02!

@) 0% fmemamT, —2o oA ¥
I3 TR

frm ¥ 4 o9 @ wlww ufw f
FrgfEenal 1 Tle ¥g W AT ?

(1) y2-udieo (2) et e
3) Tuegs wlawr  (4) T adieo

TG BT % TR0 ¥ & AT L &
(1) et e

(2) T ThE

(3) wamme fae gdeo

4) Toegs wlgm

TGO % AU JTeher H TN Bl 8
(1) tufoets

) y2-wfoes

(3) Efests

(4) T A Hg T

e X, Xy, ... X, T AR aed
N, DARAT= = i x;2 T FAT

i=1

ATHAT &
(1) p? (2) pr+1
(3) u?-1 4 p+1
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Let {T,} be a sequence of estimates
such that E(T,) — 0 and V(T;) — O as
n — oo, Then T, is

(1) Consistent for 6

@ 1, —L2>0
(3) Both Consistent

Tn—B——>0

(4) Neither Consistent for © nor

T, -2 0

for 0 and

Which of the following test is used to
test the randomness of a queue ?

(2) Median test
(4) Run-test

(1) x2-test
(3) Sign-test

For testing the goodness of fit we use
(1) Median test

(2) Run test

(3) Kolmogrov-Smirnov test

(4) Sign test

To obtain the confidence interval for
the variance, which of the following
statistic is used ?

(1) t-statistic

(2) x2-statistic

(3) F-statistic

(4) None of these

Let X;, X5, ..., X, be a random sample

n
from NQ, 1, then T = — > x2is an
n;:
i=1

unbiased estimator of
(1) p? (2) p2+1
(3) u2=1 4 p+l
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56. SRSWR o ferest Area o1 yeror @ 56. In SRSWR, the variance of the sample
: 5 : mean is
N-n o 2
2 — -
(1) c (2) o 1 N-n o2 2 GT
2
(3] (4) 02 - c 5
n—1 n(N-1) e ) T
57. THCRD % favomu g st i 2 §7. The value of the error mean square in

the given ANOVA table for a CRD is :

feorergle df. S.S. M.S.
Source of Variation d.f. S.S. M.S.

" o B Treatment 4 - 31
aﬁ - - Error - - -
T 9 424

Total 9 424
s Te it e ST A B -

(1) 45 (2) 30
(1) 45 (2) 30

(3) 60 4) 50
3) 60 @) 50

58. 3Igafas mﬁmﬁuﬂ?ﬁvﬁmwﬁr& 58. Moving average method of finding

= 4 @ s v ) REICIR trend removes the effect of

(1) o=t 37afe & I=Tas (1) long term movements

(2) B AR % I=ATE=T (2) short term movements

(3) Tt femmor (3) cyclic variations

=Y T (4) none of these
4)
59, aTfie dneh He- o0 ) SRR B | 59. In case of annual data, the additive

e I fet 2 model representing a time series is
(1) U=T+S+C+I

(1) U=T+S+C+1
(2) U=S+C+1

(2) U=S+C+I
3) U=T+C+1

3) U=T+C+I
4 U=T+S+1

4 U=T+S+1
(u ] 14 00 (Stat., Maths., Agri. etc.)
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60. TF n FWM I AT Whed W
IMYTiE Afg O T X =IAqH FE0T wioray
R 919 f

. f(x, 0) = % e0; x, 0>0

a9 X 1 6 B
(1) 6/ (2) 26/n
(3) 62n (4) 2062n

61. 2 Teor wEm gran B f uftwern %
qﬂm%%q:
(1) o2=042
(2) &% AT &
(3) Qi % e w3
%) Ak

62. |UTE % Ug uie fedi & wd A F frg
s iR ) afad o T 35 i e
F afe a8 safts e & o8 fei o w1
T & Y airad A T 40 S & et
A sEh B fmfama g -
(1) T55 ) 265
(3) 275 (4) 245

63. ¥ vt % Prafefes 3ol # 4 @
ifia 21§ G g it aferet F Y
Tererht o 1 Y SRl ?

(1) wfemEsr
(2) sgTh

(3) WA

(4) BN GIHhR

64. PrffeaiasNaTsEuoe ?
(18T P = Sfersiersh, D = G, Q = I &)
(1) P5p=Q;=Ds (2) Q,=P5p=Dg
(3) Q=Psp=D; (4) Q;=Psp=D;s
00 (Stat., Maths., Agri. efc.)
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Let X is the minimum variance bound
estimator of © based on a random

sample of size n from f(x, 6) = —:—}- e~x/8;
x, 0 > 0, then its variance is

(1) 6/m (2) 26/

(3) 8%n (4) 20%2n

%2 test is used to test the hypothesis
(1) o%2=0y?
(2) Goodness of fit

(3) Independence of two attributes
(4) All of these

The average income of a person on
working for the first five days of a week
is T 35 per day and if he works for the
first six days of the week, his average
income per day is ¥ 40. Then his

income for the sixth day is —
(1y T35 (2) %65
(3) %75 (4) 45

Which of the following measures of
central tendency can not be calculated
for open ended class intervals in a
grouped data ?

(1) Median

(2) Mode

(3) Arithmetic mean

(4) Sixth decile

Which of the following relations is true ?
(1) Psop=Q;=Ds (2) Qy=Pso=Dy
(3) Q;=Psp=D; (4) Qy=P5y=Ds
where P = Percentile, D = Decile, Q =
Quartile

a
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65.

66.

67.

68.

69.

Ife Tk fRR 7o 10 T Qaror | "R
T 8 A JET

(1) 10 ¥ T2 J13 |

(2) 108 §g IR |

(3) IS SaeTa TE grm |

(4) 1009 =2 JRT |

afe P(A) = 1/3, P(B) = 1/4, P(A|B) = 1/6
at P(B|A)

(1) 1/4F TR | (2) 1/8HTTRE |
() 34FTMRE| (4) 12F TR |

Q1 Foaey qTE, hY U 1Y IBTe W 3
e 6 Mt T W ThaEE wen
feeh

(1) 1/6%7
(3) 1128

() 1368
@) 11242

A “F’ T A1fgeseh W X’ & 5 Held
ﬁm%ﬁ'{qﬁa<b,?ﬁl’(a<xsb)
2

(1) F@-Fb) (2) Fb)-F@)
(3) F(+e)-F(a) (4) F(—°)-F(b)

afe T ATfg=se = X T M B
FrefeRaa & -

X -4 6 | 10
PX=x) | 112 | 1/4 | 1/4
a E(X) g

1 2 2) -2
(3) 4 4) -4
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If a constant value 10 (ten) is subtracted
from each observation of a set, the
variance

(1) will decrease by 10
(2) will increase by 10

(3) will remain unchanged
(4) will decrease by 100

Given that P(A) = 1/3, P(B) = 1/4,
P(A[B) = 1/6, then P(BJA) is equal to

(D 1/4 (2) 1/8
(3) 3/4 4) 12

Two unbiased dice are thrown, then the
probability that both the dice show the
same number is :

(1) 1/6 (2) 1/36
(3) /12 4) 1/24
If ‘P represents the distribution

function of the random variable X and
ifa<b,then Pla<X <b)is

(1) F@-F®) (2) F(b)-F(a)
() F(+e)~F(a) (4) F(-e)-F(b)

Let X be a random variable with the

following probability distribution :

X -4 6 10

PX=x) | 112 | 1/4 | 1/4

then E(X) will be
(1) 2 2 -2
(3) 4 4) -4

00 (Stat., Maths., Agri. etc.)
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(1) My (o)  (2) &M My (to)
(3) eMMyx() (4) EWO My (to)
e e s % fad wmew 4 & v e 3
2 W 98 T WA g 8

(1) B(16, 1/2)

2) B(16, 1/3)

(3) B(16, 1/4)

@) B(16, 1/8)

T we % ol g g e e @

(1) Px+1)=AP)

A
(2) Px+1)= m P(x)

3 Px+1)=

T P(x)

A

4 Px+1)= *+2)

P(x)

frefefaa § @ fopa afteda & gro fydia
TR & ST S HI U9 THR & i
¥4 | uiafda R snawar 2 2

(1) y=(0+x)
(3) y=(-x)

2) y=1/(1+x)
4) y=1(1-2x)

Elﬁnl =n2?ﬁF—‘quﬁﬂT%W%
(1) F=1W (2) F>1W

(3) F<1®W @) F#1W
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The Moment Generating Function

(MGF) of a random variable
z=(x"”]m

o
() My (Vo) (2) ekt My (Vo)
(3) EMtMy (D) (4) ewo My (/o)

For a binomial distribution the mean is
4 and variance is 3, then it represents a

(1) B(16, 1/2) distribution
(2) B(16, 1/3) distribution
(3) B(16, 1/4) distribution
(4) B(16, 1/8) distribution

Recurrence formula for the probabilities
of Poisson distribution is given by

(1) Px+1)=APx)

(2) Px+1)= i A

P
e

. TR
(3) P(x+ 1) = ﬁ P(X)

4) Px+1)= P(x)

(x+2)

Beta distribution of second kind can be
transformed to the Beta distribution of
first kind by which of the following
transformations ?

1) y=(1+x)
3) y=>1-x)

2) y=1(1+x)
@ y=1U(1-x

If n; = n,, then the Median of the
F-distribution is at
(1) F=1
3) F<1

(2) F>1
@) F#1
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75.

76.

77.

78.

Ife & =R SrEEfa & i 3w W
(1) T e Hr |

(2) T g S TR B |

(3) T Q@ W wi=ad gt |

(4) vt e foreift |

HEF 31 & 91 Th € sl Th
¥’ ITER At Ao st feme o
Teh AT Yoo <hT HTehet i 1 3 8
bT' +kB' - G' @ bB'+bT' - G'
(b-1)k-1) b-1)(k-~-1)
bT' + kB' — kG' @ bB'+kT' -G’
b-1)k-1) b-1)k-1)

1)

3

Ife TETT-3TETT INTEl I TTT- AT
siferepferat 3 demtor fopa T 2 o 5@
(1) Eeot HehoT gt & |

(2) i TehTuT HEd § |

(3) YOl TR FE F |

(4) HGieTd Hehtv hed 2 |

U =pU,_ + Vv, & | p| < 1% for
frfefaa & o t aifireafe U, & waor
iR adiz?

(1). Var. (U) = 1/(1 - e?)
(2) Var. (U)=0c?%
(3) Var.(U)=0%(1-¢2)

=t
1—62

(4) Var. (U) =oc2v {
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If the two variables are uncorrelated,
then the two lines of regression will

(1) intersect each other
(2) be parallel to each other
(3) be perpendicular to each other

(4) never meet

The formula for estimating one missing
value in RBD having ‘b’ blocks and ‘k’
treatments with usual notations is

(1) bT'+kB'-G @) bB'+bT' -G
(b-1)(k-1) (b-1k-1)
3) bT'+kB'-kG @) bB'+kT'-G
(b=1) k1) ®-1)k-1)

If different effects are confounded in
different replications, then it reformed
as:

(1) Complete confounding
(2) Partial confounding
(3) Incomplete confounding

(4) Balanced confounding

For the autocorrelation model U, = pU,_; +
v, with | p | < 1. Which of the following

is the correct expression for variance of
U, ?

(1) Var. (U) = 1/(1 —e?)
(2) Var. (U)=o0c%

(3) Var. (U) =02 (1 -e?)

=
1—82

00 (Stat., Maths., Agri. etc.)
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e X, Xy, ..., X,,, N0, 02) G0l ¥ Th
‘0’ IR F AgFess wleest &, @ o2

1 YITH 3TTeheTsh &

(2)

1]
2 X

0 2%
i=1 i=1

o (£

i=1

@ > X-X)y

i=1

IfE X T n W= H1FHE-T0 =W &, 9l n
% T A & fo1g [2X 1 &2 g
(1) N (Yn, 1)

2) N (\2n, 1)

3) N (v/n, 2n)

(4) N (\/2n,2n)

TS T Al ARl 1 TET
o we 3fra e dm

(1) Tog wdem

(2) @ adig

(3) wfeRt gdie

@) Toerriaas fag Aol adieor

R YT STTHET HEIH S S &
Hfere HiY waer o ford wwixd =t 8,
e ____

(1) Rmend
(2) wHRH
(3) AT A
(4) FEAA
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Let X, X,,
of size ‘n’ from a N(0, 02) distribution,
then the sufficient static for 62 is

..., X, be a random sample

) i X2

i=1

n
O XX
i=1

" 5
(3) [ Xi]
1

If X is a chi-square variate with
parameter n, then for large n, the

distribution of \/5( is
(1) N (\n, 1)

) N (20, 1)

3) N (\/n, 2n)

(4) N (\2n,2n)

@ Y X;-X)?

i=1

To test the RANDOMNESS of a
sample an appropriate test would be
(1) Sign test

(2) Run test

(3) Median test

(4) Wilcoxon signed rank test

Indian Animal Husbandry Research
Institute which collects the agricultural
data for the Ministry of Agriculture is
located at :

(1) Shimla
(2) Kanpur
(3) Izzat Nagar
(4) Karnal
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83.

85.

86.

fefRea semidd s a g ?

(1) T SFIersT T & aifedfa o i
WHIeTEY Tefia X Hehar g |

(2 T SHerRy faftm offeufet #
faftr sy wefifa R awar 2 |

(3) T TR o ARTET H T & ey
S |

(4) THEAF HART v w9 d wae
JAANCEY @ HFAT R |

w1 3 fope dey Tg & 2
(1) n=4
(3) n=7

(2) n=10
4) n=11

frefaRea wha # =8 @1 v gem
T T 1 I FE % ) s

Terem wmaT 8 2
(1) t-udigmor (2) F-gqdigm

(3) x2-uliEru (4) Z-udeE

spzmmﬁﬁﬁﬁmi sg2

SteTsfires JoroTr < e Har @ 3 se?

TRITERUT JETOT <k ST ST B qY sg2 3
BRI 9T fhar s 2

(1)
)
(3)
“4)

sg? = sp? — se?
sgZ = se2 - sp?
sg? = sp? — se?/2

sg? = seZ —sp?/2
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Which of the following statement(s) are

true ?

(1) A genotype can exhibit different
phenotypes under same condition.

(2) A genotype can exhibit different

phenotypes  under  different

conditions.

(3) Similar genotypes may have same

phenotype.

“4)

Similar phenotypes have

necessarily same genotypes.

In Maize how many linkage groups are

there ?
(1) n=4 2) n=10

3) n=7 4 n=11

Which of the following tests is used for
testing the independence in linkage ?

(1) t-test
(2) F-test
(3) x2-test
(4) Z-test

sp? denotes phenotypic variance, sg2
denotes genotypic variance and se?
denotes the environmental variance,
then sg? can be obtained from :

(1) sg?=sp2-se?

(2) sg?=se2-sp?
(3) sg2=sp?-se2
(4) sg2=se?-sp?2

00 (Stat., Maths., Agri. etc.)
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H y = ag + ax + ax2 + a3 ®, @

A4y TR

(H 1 (2) (ag+ay)

(3) (ag+2ax) 4) =

T G &R g3 % foru ffefaa
T8 B 8 gt o e Rygea 173 fam
T TR ST Hehd & 2

(1) n=1 2) n=2

3) n=3 4) n=4

e ‘9° % Th Wadl e ‘T, &
o frefefga f A s adi 8 2

(1) Eg(T)—g®

(2) Vg(T)—>03f&n— e

(3) T, g(6) 1 T fa v 2 |

(4) T Eq (T,) — g(6) 3R Vg (T)
0T n > e

TH HHRG T H AC T AB WA
THiG SRR § 99 IR
AT & —

(1) ABC (2) BC

(3) ABC3RBC (4) TH A T&l

00 (Stat., Maths., Agri. etc.)
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For the expression y=ag+a;x+ a2+ asx>
A% is equal to
(1) 1

(3) (ag+2ayx)

(2) (ap+ay)
(4) zero

Simpson’s 1/3 rule can be obtained by
taking which of the following values in

the general quadrature formula ?
(1) n=1 (2) n=2

3) n=3 @) n=4

For a consistent estimator ‘T,’ of

parameter ‘0’, which of following is
true ?

(1) Eg(Ty) — g(6)
(2) Vo(T)—>0asn—eo
(3) T, is a biased estimator of g(6)

(4) Eg(T,)— g(6)and Vg (T, ) > Oas

n — eo only

In a confounding experiment, the
independent confounded interactions
are AC and AB, then generalised

interaction is —
(1) ABC (2) BC

(3) ABCand BC (4) None of these
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91. I T WM w9 & Fa1 3 F=r I3

92.

93.

95.

T, WA Thar 2 e Fea 2
() e (2) s T
3) TR T @) T P T

TH AT wgae #, IRt w5 fifda
ST g -

(1) e Jiaret & et faig W
(2) S H Fed FHrw

(3) e st freeht @it w
@) T 85I T

3iifire 5k & w3 fereh o1 e farg
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If a distribution is abnormally tall and
peaked, then it can be said that the
distribution is :
(1) Leptokurtic
(3) Platykurtic

(2) Mesokurtic
(4) None of these

In a frequency polygon, frequencies are
plotted against —

(1) Mid point of class interval
(2) Upper boundary of class
(3) Lower boundary of class
(4) None of these

The point of intersection of the ‘less
than’ and the ‘more than’ ogive curves
corresponds to —

(1) Arithmetic Mean
(2) Geometric Mean
(3) Median
(4) Mode

The co-efficient of variation of a
distribution is 50% and the variance is
25. What is the value of the mean ?

(1) 8 ) 10
3) 14 4) 18

The geometric mean of 2, 4, 16 and 32
is —

1 27
@) 64

(2) 8
4 32
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100 $ehTSE! T THIGR HTEY 50 & | &€
g urn T foF ged 9 3T 1 A S
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& | ST W B

(1) 51 (2) 50.1

(3) 60 4) 60.1

qut farerer o1 A Te8 W gt g S a1
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(1) PE>SE

(2) PE=SE

(3) PE=0.6745x SE

(4) SE=0.6745 x PE

frafafea # @ %19 91 %2 7o 8; 3R
P(A)#0?

(1) P(B/A)20

(2) P(A/A)=1

(3) P(B/A)2P(B)

(4) P(B/A)=P(A N B)/P(A)

Ife A 3R B @™ Tifekar el T §
HPANB)=p>0F AU T &, A
P(A) 2
(1) p2

@) p

(2) p?
@ 2p
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The arithmetic mean of 100 items are
50. Later it was found that the value of
largest item which was wrongly
reported 150 is actually 160. The true
mean is —

(1) 51
(3) 60

(2) 50.1
(4) 60.1

Sum of absolute deviation is least when
it is measured about —

(1) Mean
(2) Median
(3) Mode
(4) Nothing can be said

Which of the following relationship
between Standard Error (SE) and
Probable Error (PE) is correct ?

(1) PE>SE
(2) PE=SE
(3) PE=0.6745x SE
(4) SE=0.6745 x PE

Which of the following statement is
false; if P(A) #0 ?

(1) P(B/A)=20

(2) P(A/A)=1

(3) P(B/A)=2P(B)

(4) P(B/A)=P(A N B)P(A)

If the events A and B have equal
probability and are independent with
P(A N B) =p >0, then P(A) is

(1) pr2 @ p?
3 p @ 2p
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